MA.6.A.5.1, 5.2, 5.3 Decimals, Fractions, and Percents

1) In a survey of 100 households, people were asked if they had children living in their home. Only 25% of the households responded that no children were living in their home, 30% reported that they had one child living in their home, and 20% said there were 2 children living in their home.

What fraction of the households reported that they had more than 2 children living in their home? 
A.
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B.
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C.
[image: image3.png]



D.
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2) Joshua learned that around 40% of families in the United States own dogs. Which fraction of families in the United States does not own dogs?
A.
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B.
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C.
[image: image7.png]



D.
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3) Greta and her brother are comparing their height, in inches. She is 64.375 inches tall and he is 62.625 inches tall. Which of the following mixed numbers represents the difference between Greta's height and her brother's?
A.
1[image: image9.png]



B.
1[image: image10.png]



C.
1[image: image11.png]



D.
1[image: image12.png]



4) The 25 students in Mrs. Vann's science class each planted a sunflower seed in a small seed pot. A few days later, 9 of the students' seeds had already sprouted. 

What percent of the students had seeds that had not yet sprouted? 
5) Mr. Samuel's 6th grade history class is working on a genealogy project. They find that of the 30 students in the class, [image: image13.png]


of the students have two or more siblings, 20% have one sibling, and the remaining students have no siblings.

How many students in Mr. Samuel's class have no siblings? 
1) Which of the following numbers has a value greater than 3?
A.
[image: image14.png]


   B.
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   C.
3.0   D.
31%
2) Celia wants to put a frame around her painting. The width of her painting is [image: image16.png]


inches and its length is [image: image17.png]


inches. Which of the available frame sizes will be large enough to hold Celia's painting?
[image: image18.png]Frame Size Width (in inches)  Length (in inches)





A.
Size A   B.
Size B   C.
Size C   D.
Size D
3) Which answer choice correctly lists the following numbers in order, from greatest to least? 32%, [image: image19.png]


, 3.1, [image: image20.png]



A.
32%, [image: image21.png]


, 3.1, [image: image22.png]


   B.
3.1, 32%, [image: image23.png]


, [image: image24.png]


   C.
32%, 3.1, [image: image25.png]


, [image: image26.png]


   D.
3.1, 32%, [image: image27.png]


, [image: image28.png]
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4)Franklin is working on a project for his chemistry lab. He needs to order the densities of some common elements (shown in the table below) in order from least to greatest.

Which of the following shows the elements in order from least to greatest density?

[image: image30.png]sulfur 2.067
Sodium 0917
carbon 3513
Aluminum 2.698

Lithium 053¢




A.
Lithium, Sodium, Aluminum, Sulfur, Carbon
B.
Sulfur, Sodium, Carbon, Aluminum, Lithium
C.
Carbon, Aluminum, Sulfur, Sodium, Lithium
D.
Lithium, Sodium, Sulfur, Aluminum, Carbon
5)
Giselle's teacher asked her to identify some mystery numbers along a number line. Each letter on the number line below represents a mystery number. Which of the answers below shows the correct value of each of the mystery numbers?
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A.
A = −5[image: image32.png]


 R = −3[image: image33.png]


  X = −[image: image34.png]


 F = 2[image: image35.png]


 C = 4[image: image36.png]


 
B.
A = −4[image: image37.png]


 R = −2[image: image38.png]


 X = −[image: image39.png]


 F = 1[image: image40.png]


 C = 3[image: image41.png]


 
C.
A = −3[image: image42.png]


 R = −1[image: image43.png]


 X = −[image: image44.png]


 F = [image: image45.png]


 C = 2[image: image46.png]


 
D.
A = −3[image: image47.png]


 R = −2[image: image48.png]


 X = [image: image49.png]


 F = 1[image: image50.png]


 C = 4[image: image51.png]


 
1 )Ron and Lucy started cleaning their garage on Sunday afternoon, and finished 4 [image: image52.png]


hours later. They took a [image: image53.png]


hour break for lunch and 2 breaks that were [image: image54.png]


of an hour each.

Which of the following is the best estimate of the time they spent cleaning?
A.
5 [image: image55.png]


hours
B.
4 hours
C.
3 hours
D.
2 [image: image56.png]


hours
2) Jane makes $7.50 per hour babysitting after school. Last week she worked a total of 4.5 hours. She plans to use $8.80 of her earnings to repay her sister for some money she borrowed last week.

Which of the following is the best estimate of the amount of money Jane will have after she repays her sister?
A.
$40.00
B.
$34.00
C.
$32.00
D.
$25.00
3) Conner surveyed the 6th grade students at his school to find out which meal was their favorite: breakfast, lunch, or dinner. Of the 83 students he asked, 39 said breakfast was their favorite meal and 27 chose lunch as their favorite meal.

Which of the following is the best estimate of the percentage of students that said dinner was their favorite meal?
A.
12 percent
B.
20 percent
C.
34 percent
D.
80 percent
4) The local athletic center offers gymnastics, ballet, and jazz dance classes 3 days a week from 4 p.m. to 5 p.m. Of the 145 members that take classes, approximately [image: image57.png]


are enrolled in jazz dance lessons, and about [image: image58.png]


take ballet lessons.

Which of the following would provide the most reasonable estimate of the number of people taking gymnastics classes?
A.
multiplying [image: image59.png]


by 145
B.
multiplying [image: image60.png]


by 145
C.
multiplying [image: image61.png]


by [image: image62.png]


and then multiplying the product by 145
D.
multiplying [image: image63.png]


by [image: image64.png]


and then dividing the product by 145
5) Marlaina is shopping for her family at the grocery store. At the deli counter, roast beef costs $8.99 per pound, and ham costs $7.99 per pound. She buys 2.1 pounds of roast beef and 4.8 pounds of ham.

Which of the following methods will give Marlaina the best estimate of how much the lunchmeat will cost altogether?
A.
multiply $9 by $8, multiply 2 by 5, and add the two products together
B.
add $9 and $8, and then multiply by 7
C.
multiply $9 by 2, multiply $8 by 5, and add the two products together
D.
add 2 and 7, and then multiply by $17
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